<'RRino

VF4KR
KammRack

Instruclions

{cm( CRASH (,,)}

According to ISO/ PAS 11154:2006

VF4KR_b rhinoproducts.co.uk



VF4KR:

VW Crafter 2017-

W\
s

W\

il

&\

S ‘\

C04 x 8

*optional upgrade*
SA397U x 4[| SA398U x 4] | SA430[ |

£

PS519 x 1 [ | PS520 x 1 [ | EXT15-02 [ | SA438x1[ |

LHS x 2 RHS x 2 Centre

VF4KR_b



Fitting Kit

PS180x 2 [ | PS023 x 8 |

FS018
(M8 x 25) [ |
X 24

FS081 FS134
= (M8 x50)[] (M8 x 45) [ ]
X 6 x 16

(M8 x 75) [
x2

FNOO6 (M8) x 16 | FN085x24 [ | FTO1x1[ ] FTO5 x 1[ |

FW002 (M8) x 16 PS208 (M8) x 8 PS020 (M8) x 8 MS209 (M8) x 16

VF4KR_b



L4 (T-Track) =C

6850mm

7391mm

L5 (T-Track) =D

7391mm

1.

A A &B = 3/4, 7-15, 20-23

SA397U
PS325

SA397U
PS183

SA397U
PS183

SA397U
PS183

[:Jejel:Jelelel Tolelel:]e

SA398U
PS183

VF4KR_b



SA398U
PS325

SA398U
PS183

SA398U
PS183

SA398U
PS183

wwoss

wwige L1

SA398U
PS325

SA398U
PS183

SA398U
PS183

SA398U
PS183

VF4KR b

1435m

wwiZG0t

111ﬂng

<

SA398U
PS183

SA398U
PS183

SA398U
PS183

SA398U
PS183



PS325 + M8 x 75mm =

M8 x 50mm

M8 x 75mm

VF4KR_b



C&D

PS180 + M8 x 50mm

10
1

c—¢

13mm x 2

VF4KR_b



...... ﬁ%%%%ﬂﬂ,

W

4 /\_’

19.

VF4KR_b



K667- Crafter/TGE 2017- L4, H3, Twin Doors

@ mmm 150kg ( : E 52550mm

+ - Max
[~ < c— = ~—— 4500mm — =
47kg/110lbs [ 6880mm |

X X2 6% X6
A 'Ii;\ii_\lii_\l' _‘Ei"u—' -u-\ |-_' i LTI,

- _I-II--II- l_-ll— '_II_I_ (i
Com —_— P

" 4115mm  1125mm 1080mm *620mm

K670- Crafter/TGE 2017- L5, H3, Twin Doors

|
T = @L@}Fm

P e w— L[ — ——4500mm —
50kg/100lbs | 7450mm

1111m  1057mm _ 1435mm  720mm

VF4KR_b



FNO85

VF4KR_b

26.

CLICK!

28.

C1

B1

10



VF4KR b 11



36.

””’7

9~

EXT15-02

37.




W\ &

L | =S ,,/\‘\MW.
= -
%, \%ﬁ?ih\w.

G/ 3 &Eg—i_:_-s

-38

- 18

/ g
\ \ W =
//
£ /
4 /\
/ Q J ,
__M_ ﬂ__% f //
i o
4
| e
Q

13

VF4KR b



10 Nm

/|

@Z i S S

g ‘
I ON
=10 N

" &

= o

(9] Ty} "
m © l m /,,,, //

=1 // / ”" M\\

q == || - ,,,,,, / °
<< . o \\ | -

n a M / /

VF4KR_ b

14



55. _—
%

VF4KR b 15



©

CLICK!

16 VF4KR_b



66. 67.

©

CLICK!

@

CLICK!

< A

PS519
70. 71.

30mm MAX

VF4KR b 17



N\
\UK+44(0) 151 319 2931 rhinoproducts.co.uk K] saleserhinoproducts.co.uk

CLICK!

18 VF4KR_b

Manufactured by Rhino Products Ltd in the United Kingdom.
Rhino Products Ltd, Rhino House, Deans Road, Ellesmere Port, CH65 4DR.



